
0.1

0.2

0.3

>> 2828jj
chchPYTHIA8 <NPYTHIA8 <N

>> 3131jj
chchSHERPA <NSHERPA <N

Simulation

−1 0 1 2 3 4
∆φ*

1

1.1

1.2

1.3

>> 100100jj
chchPYTHIA8 <NPYTHIA8 <N

>> 9898jj
chchSHERPA <NSHERPA <N

*φ∆

CMS 138 fb-1 (pp 13 TeV)

 < 3.0 GeV
T

0.3 < j

−1 0 1 2 3 4
∆φ*

1.4

1.6

1.8

d∆
φ*pa

ir
dN

trgN1 Data 
Fourier fits 
cos(∆φ*) 
cos(2∆φ*) 
cos(3∆φ*)

> = 101j
ch<N

(b)Anti-kT R=0.8
pjet > 550 GeV

T
|η jet| < 1.6 
|∆η*| > 2

0.1

0.2

0.3 (a)Anti-kT R=0.8 
pjet > 550 GeV

T
|η jet| < 1.6 
|∆η*| > 2

> = 26<Nj
ch

0 20 40 60 80 100
j
chN

0.2−

0.1−

0

0.1

*|
>

2}
η∆

{2
, |

∆n*
V

CMS  (pp 13 TeV)-1138 fb

 R=0.8TAnti k

 > 550 GeVjet

T
p

| < 1.6jetη|

n=1

n=2

n=3

n=1

n=2

n=3

n=1

n=2

n=3

n=1

n=2

n=3 < 3.0 GeV
T

0.3 < j

PYTHIA8SherpaData

(c)


